CHEMISTRY—SECTIONTI - - IA
(Tatal time—9%) minwtes) el

Part A
Time—30 minutes

YOU MAY USE YOUR CALCULATOR FCR PART A.
CLEARLY SHOW THE METHOD USED AND STEFS INVOLVED IN ARRIVING AT YOUR ANSWERS. It is
to your advantage 1o do this, mmmymmﬂtﬁymmﬂmﬂmwﬁmummqﬂif
you do not. Artention should be paid to significant figures. Be sure to write all your nswers to the questions on the
Mpgumﬂnwmgmhquuﬁmmw:mﬂu B
Answer Question | below. The Section II scor weighting for this question is 20 perceat.

2H;S(8) 2 2H(8) + S:(8)

1. ﬁmmhuhd.w&apnmlﬁdagudmmmmmdh;mmunquﬂmm,ﬁlm:mhn{ H,5{g) is
nroduced into an evacuated rigid 1.25 L container. The sealed container is heated to 483 K, and 3.72 x 10~*mol

of S,{g) is present at equilibrium.
(&) Write the expression for the equilibrium constant, K,.furfhtdmm:pﬂﬁﬁﬂﬂm:nrmm.

(b) Caleulate the equilibrinm concentration, hum]L",ufdiefnuuwi::pﬂmlhnnm:ﬂnunmE

(i) Hylg)
(H) HyS(g)

(€ Calculate he vahe of the equiliboum zonstant, K_, for the mﬁwmumn
(d) Eﬂculah‘:ttpn'ﬁllp:ﬂmllﬂf S:(g) in the container at equilibrium at 433 K.

* (€) For the reaction Hy(g) + £ () 2 H;S() ot 483 K, calcalate the value of the equilibrium constant, K,

e K= 161
i T ..

GO ON TO THE NEXT PAGE.



